Operations With Integers
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Mathematics 9

Operations with Integers

A. Addition of Integers

* One way to model or show addition of integers is to use a number line.

* For example, to add:

(-5)+8

Step 1: Start at 0. Move left five units < 5 |
to show 5. <} & R o

6 543 2101°2'3°'4°5°7
Step 2: Then, starting at -5, move 8 units | ] >1'
to the right to show *8. Il i

- é\( |

6 5432101723 4"°'5°

Step 3: The dotted line shows where to stop. This is the sum. -5 + *8 = “3

Be Careful!

number line.

* To ADD a negative integer start at the first number and move to the \ (/p

number line.

Directions: Use a number line to solve the following problems.

il

* To ADD a positive integer start at the first number and move to the %E Y\ J( -_onthe

on the

-10 -9 -8 -7 -6 -5 -4 -3 -2-1 0 1
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-10-9 8-7-6-5-4-3-2-10 1 2
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B. Subtraction of Integers

* One way to model or show subtraction of integers is to change the equation and make it into an
addition question. In this way you only need to remember the rules for adding integers.

* For example, to subtract

We can change the question from subtraction to addition by “adding the opposite”. In other words
we change the subtraction sign to addition and we change the sign of the next number.,

( —g \\ + 3
Once the question has been rewritten then we just have to follow the rules for addition of integers

to solve the question.
- 2= |-
< SH* 5= \ 2 |

Directions: Rewrite the question and then use the number line to solve the following problems.

"m::::::::::;— :@

1. (=2)-5

(-3)+(5)

[ [
~—p— 1
-10 -9 8 -7 6-5-4-3-2-101 2 3 4546 7 8 910

2. 3-9 o N S
— e =

3"‘_(_%\ -0-9 -8-7-6-5-4-3-2-101 2 3 456 7 8

o
b
(=]

3. (-7)-(=3)

)+ 3

109 8-7 6 -5-4-3-2-101 2 3 4546 7 8 910
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C. Multiplication & Division of Integers

Rules for Multiplying & Dividing Integers:

When multiplying/dividing integers that have the same sign (two positives or two negatives),

the answer is always positive.

3x4= 12

—_—

\

o= 12|
5\

10+2=

SRCR

When multiplying/dividing integers that have different signs (one positive and one negative),

the answer is always negative.

—_

(-3)x4 = \_\@\

-
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Student Name:

Addition of Integers

H+(C7)= (+6)+(—4) = (+2)+ (+8) =

+7)+(+2) = (=7 +(+4) = (+6) + (—9) =

(=9 +(+5) = D+ (+8) = =N+(=9)=

+2)+ (1) = (=5)+ (+5) = (+4)+ (+7) =

(=5)+(-8) = H#D+ (4 = (+6) +(=8) =

(+6) + (-9) = =3+ = =2+ (5=

(=3)+(=2) = (+6) + (+4) = 7))+ (=8)=

(+6) + (—=6) = D+ = =D+H5) =

(+4) + (+6) = =D+(ED = (=6)+(=2)=

(-8)+(-2) = H+5)+H+7) = (+4) + (—4) =
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Student Name:

Subtraction of Integers

(+5) - (+2) =

(-9)-(+3) =

N-(-8)=

(-3)— (-4) =

(+2)—-(+7) =

(+2) - (-1) =

(=7) = (+6) =

(+2) = (-4) =

(-8)—-(-5) =

(+5) = (+9) =

(+6) = (1) =

(-8)-(=3) =

(+1) = (+4) =

(-2)-(-2) =

(+6) — (+8) =

(=5)-(+6) =

+2)-(=3) =

=8)-H+2) =

(=7) = (+1) =

(+4) = (-8) =

(+2) = (+6) =

(+6) - (=7) =

(-5)—-(+2) =

(-3)-(-D=

(-4 = (-5) =

+3)-EFND=

(+9) - (-6) =

(-1 - (-7 =

-9)-H9 =

(+8) - (+8) =
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Student Name:

Multiplication of Integers

(=5)x(+2) =

+2)x(=7) =

(=6) X (=6) =

(+3) x (+6) =

D x(-4) =

=0 x(=3) =

(+6) x (=2) =

(+8) x (+2) =

(=2)x (=)=

+9) x(=7) =

(=9) x (+6) =

(+7) x(-4) =

(=2)x(+2) =

(+4) x (+8) =

(=9) x (+5) =

(=8)x(-4) =

HFDx(=7) =

(+7) X (+6) =

(#3)x(=5) =

(=5)x(=5) =

(+2) x (-9) =

(+1) x (+6) =

FHH)x (=D =

(=8)x (=3) =

(=5)x(=2)=

(=8) x (-6) =

=D x 7)) =

(=6) x (+7) =

+3) x(-2) =

(+5) x (-8) =
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Student Name: Score:
Division of Integers
(=5) + (+5) = (+7) +(+1) = (=9)+(+3) =
(+8) +(-2) = (=8) + (+4) = (+5) +(+1) =
=7N+HD = (+6) + (=2) = (=6) +(+3) =
(+4) + (+2) = (=9)+(=3) = (=9)+(=9)=
(=6)+(=3) = (+5) = (=5) = (+8) + (+4) =
(+8) + (-4) = (-2)+ (D) = (+3)+(=3) =
(=3)+ (D = (+6) + (+6) = (=9)+(+3) =
(+9) +(=3) = (-8) +(+2) = (+8) +(=2) =
(=6) = (=2) = 7N+ = (=6) = (=6) =
D+ (D= (+2) +(-2) = (+4) + (+1) =
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